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CERTIFICATE PROGRAMME FOR 
c`l PROFESSIONAL DEVELOPMENT OF PRIMARY 

TEACHERS (CPPDPT) 
Term-End Examination 

December, 2015 

BES-054 : PEDAGOGY OF LANGUAGES 

Time : 2 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

(iii) You may use examples from teaching-learning Hindi/ 

English. 

1. Answer the following question in about 

600 words : 

Discuss the use of language resources that are 

commonly available in the environment. Describe 

in detail how you would use two of them in the 

classroom. 

OR 

What is the difference between active and passive 

vocabulary ? Discuss the different ways in which 

you could enhance the vocabulary of your 

students. 
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2. 	Answer any four of the following questions in 
about 150 words each : 

(a) What are the differences between 
Bottom-Up and Top-Down approach to 
reading ? 

(b) What is a portfolio ? How can a portfolio 
be used for evaluation ? 

(c) What is the difference between content 
words and function words ? Illustrate with 
the help of examples of each type. 

(d) List any four psychological factors that can 
interfere with effective listening. 

(e) What is meant by 'devising writing tasks 
using authentic or realististic settings' ? Give 
an example. 

(f) What is the difference between competitive 
and collaborative grammar games ? 

3. Answer the following question in about 
600 words. 

What are the steps in planning a lesson ? Prepare 
a lesson plan for teaching speaking skills. 
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